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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 4Sx -1 100 1t 3H +2 200 3
2 it x 4H +1 -450 [£3] 6CXx -2 -500 2
3 ,?ﬁ [£3] 4S +1 450 1t 4S +2 480 1
4 E=] 1t 5D -3 -300 [£3] 2H -2 -200 3
5 |mibl m | as | +1 | eso | & | 4s | +1 | e50
6 panyiic] 1t 3NT -1 -50 1t 3NT = 400 10
7 PE=] [£3] 1H = 80 1t 3S -2 -200 7
8 TS x 3D +1 -130 [£3] 3S -1 -50 2
9 panyiie] x 3H -2 200 x 2H -1 100 3
10 | \WHB [£3] 4S = 620 1t 4S +1 650 1
DATUMSit T
I $KEEPA I $%4IPA Y. X+ 12 | 20
I =T ING S 8 {AI<FB/ X1/ N5 16 ait 12 20
KBRS/ EEEERE  -16 Fr/\BB/ S -8 V.P. 7.17 | 12.83
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mE  MRE 79 : JEthR E=] 7Y : BREIH
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wk| 7 | 2NT | = | 120 ] 7 | 2NT | +2 | -180 | 2
2 | mde| 7 4s | +1 | -450 | 4t 4H | -2 | -200 6
3 |&Z&AE|l = 2s | +2 | 170 | & 4H | +2 | 480 7
4 |wal|l = 1D | +4 | 150 | & 5D | -1 | -100| 6
5 |g&dt] = 4s | +2 | 680 | = 4H | +1 | 650 1
6 |ZHm| 4t | 3NT | = | 400 | it 2H = | 110 7
7 |wal| it 2S = | 120 | & 4H | -4 | 400 | 11
8 |wxl| = 2S = | 1120 | & 3s -50 4
9 |&F&A| 4t | ANT | -2 | ;100 | F® 1H | +2 | -140 | 1
10 | WE| it 4s | +1 | 650 | 4t 2S | +3 | 200 | 10
DATUM%tit g
R sysujnuscut V. ] 42 | 13
ZNHMRE 17 FER/BEBRE  -14 ait 42 | 13
X3S/ P61t 14 [ LR/ fEHR 17 V.P. 17.67 | 2.33
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Wkl &® | 3NT | +1 | 430 ] 7 | 3NT | = | -400 1
2 |Eitl &F 3s = | 140 | 7 4S = | 420 7
3 panyiic] R 3H -2 200 [£3] 4S +1 450 6
4 |xwas) & | ANT | -1 | 100 | 1t 2H | +1 | 140 1
5 |mdtl &= 4s | +1 | 650 | & 4s | +2 | 680 1
6 |FHm| 4t | 3NT | = | 400 | & 5D | -4 | 200 | 12
7 =] [£3] 3D -3 -300 [£3] 4H -1 -100 5
8 o [£3] 3S -1 -50 [£3] 3S -1 -50
9O |FAE| 7 1S | +1 | -120 | Z® | INT | +1 | -120
10 | XRE| 7 2H +1 | -140 [£3] 4S +1 650 13
DATUM&iit g
Sleepless %3 2PA V. o] 19 27
WERERE 14  EFEERER -6 ait 19 | 27
MhIF/EN X 6 FRImiE/iREE 14 V.P. 717 | 12.83
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1 TS x 3NT = -400 x 3NT +1 -430 1
2 it [ri] 4S -1 50 [ri] 4S -1 50
3 panyiie] 1t 4S +2 480 1t 3S +2 200 7
4 WE=] [£3] 3NT = 600 [£3] 1S = 80 11
5 |mibl m | as | +1 | eso | & | 4s | +1 | 50
6 panyiie] 1t 3NT = 400 1t INT +2 150 6
7 WE=] 1t 2S -1 -100 1t 3S -2 -200 3
8 TS [£3] 4S -2 -100 [£3] 3S -1 -50 2
o ,?ﬁ x INT = -90 x INT = -90
10 | \WHB x 5Dx -3 800 1t 4S +1 650 4
DATUMSit T
I HERT BRI 2BA Y. 3+ 32 2
TER/ZXIE 31 BER/SME 2 ait 32 2
BN RER -2 B E/fFRARTT -31 V.P. 17.84 | 2.16
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x| | R | m | R | mee| e | 2 |er axe| 20| T

1 |wxkl &= [ anT | = | 400] & | anT | 2 | 100 11

2 |mdtl @ | 3s | = | 140 | & | 3s | = | -140

3 |%m| 4t | 4s | +1 | 450 | &5 | 2s | +3 | 200 | 6

4 |wal &8 | aNnT| 2 | 200 & | 45 | 2 | 200

5 | mik LL PAS 3] 4S +1 | 650 12

6 || & | aNT | = | 400 | 4t | aNT | 2 | -100 | 12

7 |wal 4t | 4s | 3| 300 4 | 3s | -1 | -100 5

8 |wx|l m | 3s | 1| 50| = | 3D | +1 | 130 | 2

o |zA@E| 4t | 3c | 2| 100 & | 1H | = | 80 1

10 [ WA it 3S +1 170 1t 4S +1 650 10

DATUM&iit iFE
I~ HETFR v 3+ ] 19 | 39
PRESZ/ARRE 23 ZESBASKEMR -1 ait 19 | 39
ENK/PFRERIE 1 ZRIC/BRAE 23 V.P. 4.03 | 15.97
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT = -400 x 3NT -2 100 11
2 it [ri] 4S = -420 1t 4H -2 -200 6
3 | FAL db 4S +1 450 it 3S +1 170 7
4 WE=] [£3] 3NT -2 -200 x 2S -2 200 9
5 |&t]l = 4S = | 620 | & 4s | +1 | 650 1
6 |l & |3NTx| -1 | 200 | & | 2NT | +1 | 150 6
7 E=] [£3] 1H +1 110 1t 2S = 110
8 TS x 3D +1 -130 [£3] 3S -1 -50 2
9 panyiic] x INT +1 -120 [£3] 3D -4 -200 2
10 | \WHB 1t 4S +1 650 1t 4S +1 650
DATUM%tit iFE
ARWLXE EFKBA y. S+ ] 9 35
FEXBFE 11 - Jf = 16 Ait 9 35
MOFRH/RRIE -16 BEE/N) | EF 11 V.P. 284 | 17.16
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